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Part1 (56 marks)

For each question from 1 to 28, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3.or 4). Shade the correct oval (1, 2, 3 or 4) on
the Optical Answer Sheet. '

1. 4 students made the following statements below about some animals.
Which is the correct statement?’

1) Ailee
2) Ben

3) Clark
4) Denise

Whale is a fish as it lives in water.
Guppy is a mammal as it gives birth.
Spiny anteater is a mammal as it suckles its young.

Crab is an amphibian as it can breathe in water and on land.

2. Study the flowchart below.

Comes Yes, I Flexible? 25> Waterproof Yes
from plant?
lNO No NO
What can objects J, K, L and M be?
J K L M

1) Iron nail Silk dress Rubber gloves Tissue paper
2) Silk dress Wooden table Tissue paper Rubber gloves
3) |- Wooden table Rubber gloves Wooden table Iron nail
4) | . Rubber gloves iron nail Silk dress Rubber gloves

3. Which of the following substances are transported by the circulatory system?

A: Digested food

‘B: Oxygen
1) AandB
2) BandC

C: Carbon dioxide

D: Waste matenals

3) A BandD
4) A/B,CandD

(Go on to the next page)




4. The diagram below shows 'the human digestive system.

Which of the following graphs correctly shows the amount of digested and
undigested food in the organs A, B, C and D of the digestive system after some
food is consumed?
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5. Some red liquid was placed in Bag X. The bag of red liquid was then pléééd ina
beaker of blue liquid.

r_— Bag X——.3

beaker

— Blue liquid

After 30 minutes, the liquid in Bag X increased in volume and turned purple. The
liquid in the beaker remained blue but decreased in volume.

Which of the part of a plant cell functions in a similar way to Bag X?
1) cellwall 3) nucleus
2) cell membrane 4) - cytoplasm
6. Tricia put a red rose and white rose into a beaker of red-coloured water each
After a few days, she made the following statements.
A: The white rose turned red.
B: Only the white rose took in water.

C: The stem transported water fo the flowers.

Which of the above statements are correct?

.1 Aonly 3) AandConly
== 2) Bonly 4) B and C only

7. Study the diagram shown below.

Which switches must be closed if all bulbs are unlit but the bell rings?

1) AandEonly 3) A, CandEonly
2) DandEonly 4) A, DandE only

A-4 {Go on to the next page)



8. The diagram below shows a circuit féster and a circuit board. The circuit board is
connected to'3 points by wires.

Circuit tester Circuit board

When the 2 points, X and Y, of the circuit - tester are placed on 2 different points
on the board, the results are shown in the table below.

%’f“' z’vgg‘mx:smu

S connectedt i bocy e bulb lohtine

Pand R Yes

Qand U No

Sand U No

Rand T Yes
Which of the following pairs of points will light up the bulb when connected to the
circuit tester?
1) PandT 3) RandU
2) QandS 4) TandU

9. Study the classification chart below.

Conductors ?f electricity
I ]
Yes No
L |
! ] F 1
"~ Good conductor Poor conductor . Good conductor Poor conductor -
of {’ea* of f;eat of heat of heat
! ) ' i
w X Y

Y4

Based on the above chart, which one of the materials is a non-conductor of
electricity and a poor conductor of heat?

1) W 3) Y
2) X 4) Z

A_KR {G0o on tn the novt nann)



10. The table below shows the number of organisms living on a rain tree.

SRR

Bird’s nest ferns 3
Squirrels 5
Staghorn fems 2
Sparrow eggs 3
Ant larva 30
Sparrows 4
Ant pupa 20
Ant 65

How many populations can be found on the rain tree?

1)
2)

8 3 6
5 4 4

11. Study the food we_b below.

N

G — " H-——

Sl

N > M

«/C—*»S
F
.

Which of the following statements is not correct?

Organisms K and M are omnivores.
There are more camivores than omnivores.
Organisms G and F have 2 sources of food.

If all of Organism C die, Organism S will not have any food.

~ {Goon to the next page)



12. 4 children were given 4 pictures of organisms as shown below. They were asked
which organism would be able to survive in the arctic. They were also asked to
provide a reason for their answer. Which of the children is correct?

Organism Reason
It has thick furand a th;ck layer offatto -
| keep warm. :

1) | Kelly:

it will hide underground to keep wam.

2) |Lamy:

it will fluff up its feathers to trap its body

heat.
3) | Mark:

It has more exposed surface area in its
ears to gain more heat from the

4) | Nancy: surroundings.

13. Which of the following electromagnets will pick up the most number of paper

clips?
1) 30 tums of coil 10 turns of coil
2) 4) 10 turns of coil

EQ

A -7 {G0O on o the navt nans)



14. Peter released a ball from the top.of a ramp. It stops moving ét the position
where Object R is taped under the ramp.

Which materials are the ball and Object R made of?

Ball ObjectR |
1) magnetic | - non-magnetic
2) magnetic magnet.
3) . magnetic - magnetic
4) | non-magnetic non-magnetic

15. Balls A and B are placed on a plastic surface and apushisexerted on BallBas
shown in the diagram below.

Left Right

<——— push

When Ball B hits Ball A, Ball B moves back to the right and Ball A remains
stationary. Which of the following actions will move Ball A to the left? -

A : Replace Ball A with a lighter one
B : Replace Ball B with a heavier one
C : Use less force to push Ball B

D : Use a greater force to push Ball B

1) Aand Bonly 3) A,BandConly
2) AandDonly 4) A, BandD only

A-8 (Go on to the next page)



16. Study at the flowchart below.

Can the force act Yes Does it pull Yes . 7
from a distance? things to Earth? 4
No o
y
‘Does it oppose Yes [ Y
motion?

Which ohe of the following correctly identifies the types of forces?

Type of force
- X : Y 4
1) frictional magnetic gravitational
2) magnetic gravitational frictional
3) magnetic frictional gravitational " _ |
4) gravitational frictional magnetic

17. Dexter wants to set up an experiment to find out how the surface of a ramp
affects the distance moved by a metal ball. He did the set up below.

metal ball

35cm aluminium surface

Which one of the followivng set-ups should Dexter use to make a fair
comparison?

1) rubber ball 3) metal ball
35cm aluminium surface 35 cnd carpet surface
2) 4)
rubber ball metal ball
25cm sandpaper surface 25 cm carpet surface

A 0O I A b B At nama)



18. Below are pictures of a cockroach and a grasshopper.

- Cockroach Grasshopper

Which one of the following describes the life cycle of both animats correctly?

Statements Cockroach | Grasshoper
1) {-Young looks like the adult.’ - B
2) | Entire life cycle takes place on land.
3) { Young moults.
4) | Lays eggs in water

LARSENES
SRS

19. The diagram below shows the plants, L, M and N, on the same plot of land in
March and September.

L

March ' September

Which plant dispersed its seeds by splitting and wind respectively?

Splitting Wind
1) M N
2) N L
3) L N
4) L M

A-10 (Go on to the next page) -



20. Study the family tree below.

Father ' QMother

Curly hair Straight hair :
Round face : : Square face '
Tom Sam @ Penny (b Joy
Curly hair Straight hair Straight hair Curly hair
Square face Square face Round face Square face

Based on the family tree above, which of the foliowing statements is correct?

1)
2)
3)
4)

Sam inherited both features from the same parent.

3 children inherited the shape of their faces from their father.
Half the children have the same face shape.

Penny has the same hair type as all her brothers -

21. The container shown below contains 3 substances, K, L and M. More Substance
L is then added into the container without changing the amounts of Substances
K and M. The changes in their levels are shown below.

Before After

What can K, L and M be?

1)

2) ]

3)
4)

K L M
Solid Liquid " Gas
Liquid Solid Gas

Gas Liquid : Solid
Liquid Gas Solid

A_11 ) {1 6n in tho navt nana)



22. Condensation takes place when

23.

24.

A : acup of ice cubes is placed in the freezer

B : aboy breathes onto a mirror

C : apacket of freshly fried French fries is kept in a plastic bag

D : abottle taken out from the refrigerator and placed on the table

1) Aand B only | 3) B,CandDonly
2) CandDonly 4) A, B,CandD only
Study the diagram below.
‘y Water bodies \
B | : ' Rain
N .

Which one of the following is correct?

B C Process V
1) Clouds Water vapour Condensation
2) Water vapour Clouds Evaporation
3) Water bodies Clouds Evaporation
4) Water vapour Water bodies Condensation

The picture below shows a pot used for cooking.
A .

Which of the labelled parts of the pot are commonly made of poor conductors of
heat?

1) AandBonly 3) BandDonly
2) AandConly "4) CandDonly

A-12 (Go on to the next page)



25. Which one of the graphs below shows the effect of the amount of carbon dioxide
on the rate of photosynthesis?

{)Rateof 3 Rate of _
photosynthesis , : photosynthesis
A A

—_» Amount of » Amount of
carbon dioxide carbon dioxide
2) Rate of ' 4 Rate of
. photosynthesis : ' photosynthesis
BT 3 A
» Amount of " : » Amount of
carbon dioxide carbon dioxide

26. Study the set-up below.

stand

| Alan fixed one end of a piece of metal bar to a stand and fixed a plastic arrow to
3 . its free end. The arrow was initially pointed at P.

What did David do to make the arrow poirit at Q later?

1) Heated the arrow

2) Heated the metal bar

3) Brought a magnet near the arrow
4) Placed ice cubes on the metal bar



27. The table below shows the energy conversion of electrical energy to 3 main

28.

forms of energy in 3 different appliances.

Appliance Energy conversion
R Electrical energy ->+light energdy-
S Electrical energy > heat energy
T Electrical energy > kinetic energy

What can the appliances R, S and T be?

1)
2)
3)
4)

A ball was thrown up into the air. It moved from A to B as shown in Figure 1 and

R S T
Rice cooker Washing machine Torch
Washing machine Rice cooker Torch
Rice cooker - Torch Washing machine
Torch Rice cooker Washing machine

then dropped to A as shown in Figure 2.

50

P

B {

P

o

O
Figure 1 Figure 2
Which of the following is correct?
Potential energy of the | Kinetic energy of the
stone fromAtoB stone from B to A
1) increases decreases
2) decreases increases
3) increases increases
4) decreases decreases
End of Booklet A
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Part Il (44 marks)

Answer all the following quesﬁons.

29. Siew Ann wanted to observe how Animal X grows from an egg to an adult. She
recorded the duration Animal X spends at each stage and drew the graph

below. :
Number of days
A
Egg Pupa Larva Aduilt > Stages
~a) Draw the life cycle of Animal X in the box below. 1]
b)
No food and water - X Sealed glass
container

Which stages of Animal X can survive in the box above? 1

c) Animal Xis a pest. At which stage, larva or pupa, will it be easier to kill? Explain.

(2]

| ]

B-2 {Go on to the next page)




30. Yasmin carried out an experiment. She placed a magnet on the table and
measured the longest distance from which the paper clip could be attracted to
the magnet as shown in the diagram below. She repeated the experiment with 3
other magnets of the same size using the same set-up. The results are recorded

RRRRRRERR R Rnnnrnnnns

‘attracting distance’ ¢

a) What could be the aim of Yasmin's experiment? [1

b) Yasmin wanted to find out which magnet, S or T, is actually stronger.
Tick the following which will enable her to achieve the above. [2]

Tick (v)

Do the experiment on the floor
Use a longer ruler
Measure the distance in mm
Use a lighter paper clip

Use a heavier paper clip

e

B-3 (Go on to the next page)




31. Steven placed a plant each in 3 beakers. Each beaker contains 200 cm? of
water as shown below.

Oil -— Oil
| 200 am® - L 200 o’
of water of water

After 4 days, the amount of water in each beaker was measured and recorded
in the table below. ~

b 38N 2712
A 200 136
B _ 200 179
Cc 200 ' 185

a) Steven’s friend, Kayla, pointed out that the volume of water left in Beaker C was
wrong. Explain why this is so. [2]

b) How does putting a layer of oil ensure that the amount of water taken in by the
plant is accurate? » . . [1]

P

B-4 ' (Go on to the next page)




32. John carried out the expenment below. The set-ups were placed under the Sun.

b)

At the start of the experiment, the colour of Liquid Z in each jar was red. LlQUld 4
changes from red to ye!!ow when it interacts w:th a certain gas.

After 3 hours, John noted the colour of quund Z in each jar and recorded in the
table below.

P
Q Yellow
R Red

What could be the gas that caused Liquid Zin JarQto change from red to
yellow? [1]

Both the cactus and the live insect are living things. Explain why Liquid Z in Jar

P did not turn yellow but Liquid Z in Jar Q did. 2]

_

Bls -(Gd on 16 the hiext paye)




33. A‘gfo‘up of Science students conducted an experiment on 2 populations of
Plants E and F. They wanted to find out how temperature affects the growth of
“these plants. The graph below shows the results obtained.

Number of plants
. A

. ; ‘ ; . ]
0 10 20 30 40 - Temperature (°C)

a) Whatis the relationship between the Population of Plant E and temperature?
: 2]

b) Country X experiences temperatures between 26°C and 32°C. Which plant, E or
F, will grow better there? [1

3

B-6 {Go on to the next page)



34. PlantG, shown below, has survived well in places with extremely high

temperatures like the desert.

Plant G

a) Below are 2 structural adaptations of Plant G that help it to survive in deserts.
Explain how each adaptation has helped Plant G to survive-in deserts. - 2]

Needle-like leaves

Thick, juicy stem

b) Below are 2 plants, J and K.

n

il
[
s

)

R~
! -

s et i 4
o

Plant J

)

=
D

=l

- Plant K

Why will Plant J's roots be an advantage over Plant K’s in the desert? {11

s
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35. A money plant is wétéred and placed in the garrden from 12 midnightto 7 a.m. A
leaf is tested for starch every 2 hours. The graph below shows the results of the
experiment. ‘

Amount of starch in the leaf
A

*12 midnight 7 am 1 pi

R e L L E TS

» Time (hours)

a) Explain why the amount of starch decrease from midnight to 7 a:m. {21

b) Draw and label on the graph above to show the amount of starch in the leaf of
the same plant at the same location from 7 a.m. to 1pm. 1

I;’ 3

B-8 (Go on 1o the next page)



36. The human reproductive systems are shown below.

Male reproductive system Female reproductive system

- The diagrams below show a life process occurring in the body of a female.

Stage 1

a) Name the process that is taking place at Stage 2. [1]

b) Based on the diagrams of the human male and female reproductive systems, in

which part, A, B, C or D, will the foetus develop? 1]
c) Which part, A, B, C or D, produce the sperm and egg respectively? [1}
Sex Cell Part
~ Sperm
Egg
d) In plants, state the part which has the same function as sperms. M
_4 A

B-o& (Go onto the next page)



37. Aminah sets up the circuit below to find out if Liquid Q is a conductor of
electricity.

Metal rods

She concluded her investigation by checking if the bulb lights up. However, her
friend, Lily, told her that this could not be used to draw a conclusion.

a) Explain why you agree with Lily. 1]

b) Using the same components, modify Aminah’s investigation.
Draw and label your suggested experimental set up in the box below. [2}

3

B-10 “"" (Go on to the next page)



38. The graph below shows the lengths of 2 springs when 5 different weights were
hung on them.

Length of Spring (cm) .
Spring F
24 >

20 + —1= <
- Spring G

12 e -

Mass
50 100 150 200 250

a) Whatis the extension of Spring G when 250g weight is hung on it? (11

b)  In the spring balance below, Spring G is used to weigh objects weighing up to
2kg. Explain why Spring F is more suitable for objects weighing less than 0.5kg.

(2]

3

B-11 {Go on to the next page)



39.. An expériment was carried out to find out if the exposed surface area of water

affects the rate at which water evaporates. 3 containers, D, E and F, were filled
with the same amount of water. They were then placed in the Science room for

15 hours. The amount of water left in each container was measured every few
hours.

60 cm®
60 lcm3
D E
é) Arrange the containers based on the rate of evéppration. - {1}

Slowest —— > Fastest

b) By.placing the containers in the same location, list 2 variables that are kept

constant. ‘ : 2}

i)

ii)

Using the same containers, what could be done to increase the rate of
evaporation for all the containers? 1

B-12 {Go on to the next page)




40. Ivan placed 4 opaque objects in an dpaque basin and looked at them from the
position as shown in the diagram below.

eye

N

a) Which objects can lvan see from the position shown? (1]

b) State the property of light that allows him to see only the objects in (a)? m

-
—f
torch -
screen
¢} Inthe box below, draw the shadow formed on the screen. 1

3

B -13 (Go on to the next page)



. ‘41. Below is a diagram of a ball being'feléased from Position B.

a) Wirite the main energy conversion of the pendulum from Positions B to X. (1]

energy ‘ - energy energy

b) Complete the graph below to show the change in potential energy from Position
B to Position X. o [2]

Amount of potential energy
A

> Position

-t
ped

B A X

c) List 1 thing that can be done so that the pendulum can reach Position Y.
Explain. 2]

End of Booklet B A
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2%a

] [om

2%

Egg and pupa

29

Larva. It moves so it can be more easily spotted than the pupa.
Or

Pupa. it cannot move by itself so it cannot escape as easily as the larva.

To find out which magnet, R, S, T or U is the strongest / weakest magnet.

30b

Tick (v)

Do the experiment on the floor
Use a longer ruler

Measure the distance in mm v
Use a lighter paper clip ' v
Use a heavier paper clip

31a

Beaker C should have less water left than BeakerB as the plant in Beaker € has
more leaves than the plant in Beaker B.So the plant in Beaker C will lose more
waterthrough its stomata of the leaves andmore water will be taken in-by the
roots of the plant.

31b

Oil prevents water from evaporating so the water loss i in each beaker is only due
to the absorplion of water by the roots of the plants.

32a

Carbon di oxsde

32b -

The cactus used up more carbon dioxide during photosynthes:s than it gave out
during respuahon so there was not enough carbon dioxide in P to make Liquid Z
turn Yellow. However, the live insect could only carry out respiration and gave out
carbon dioxide so Liquid Z in Q tumed Yellow.

33a

For temperatures below 30°C, the higher the temperature, the greater the number
of Population E. However, when the temperature goes above 30°C, the hlghel’ the
temperature, the smaller the number of Population E.

33b

Population E

Structural adaptation | ' How adaptation is he!gful

Needle-fike leaves Reduce water loss through the leaves
“Thick, juicy stem Stores water forthe plant




'fhe roots of Plant J are longer than Plant K’s to enable the plant to reach more

34b water deeper in the ground.
35 ‘The plant could not cany out photosynthesis as there was no light. As a result, the
a plant used up its store of starch.
of starch in the leaf
35b \/
Py Yime (houys)

36a | Fertilisation
36b |D
_ Sex Cell Part
36¢ Sperm B

Egg C
36d | Pollengrains

'37a

The bulbis already in a closed/complete circuit without the parts with the metal

rods andLiquid Q so the bulb will light up even if Liquid Q is-not a conductor of
electricity.
37b
38a
38b Spring F. It extends more when the same mass is hungon it than Spring G. Thus,
the reading/scale will be more significant obvious precise.
39a |EFD
Temperature of surrounding .
39b Wind speed
30c Increase wind speed - put the containers in a windier place
Increase temperature ~ put the containers in a place with higher temperature
40a |BandC . :
40b | Light travels in a straight line.
40c
41a | Potential energy -> Kinetic energy -> Potential eneri;y
Amount of energy
1
41b :
' _
1 . Drcitin,
B Y X » Position
Ale Release the pendulum foma greater height than Position B. The pendulum has

] more potential energy to be converted to more kmetlc energy to move higher.




